Pennies off a tall building example

If I throw a penny at a velocity of 5m/s at you it will hurt a little but you will walk away from it.  Why would it hurt so much if a penny thrown off a 15 story building (49.5m) building hurt so much when it hits you?

Throwing a penny only has a horizontal component to the velocity (5m/s)

Throwing a penny off of a 15 story building (49.5m) will also have a vertical velocity added to the penny because the penny drops vertically so much.  What is the vertical velocity of the penny thrown over the building?

t = √2d/g = 

v=gt=

This would only be the velocity of the penny due to falling or its vertical velocity.  Would that be the velocity that the penny hit you with?

To get the velocity that the penny hit you with you would have to get the sum of the vertical and horizontal velocities by using the pythagorean theorem.

Would it hurt more to get hit by a penny thrown off a 15 story building at 5m/s or just dropped off the 15 story building?  Would it be a lot different?

